F27MeBEXR/

—R—FEFHE RgKE

HALFPIPE
d—X
TS: KH KA a—X4 FR)IHFLUT
BHEEER: BR % 2 K 120 m
I—XER: RE EN £ g 15 m
¥ = thig BEfE 2 5 4.8 m
RA—REH]: 2 IEF M OE 15 °
T4=wa B K fEF oo owiay 4 m
ANYRDpyD: BifE BEfE IN—T1HIL 0.8 m
Dy ANt B BHMA TS ybhiR—LIE 2 m
D1 %& {3 D2 /\K =F
SEEEERE: F BE
mEpahTd)—: MR K&
B 4R A el PM
1—RABF
|“_LE13'Z| E7|8EHS LK [T A1 | F—L% [1. Run[2. Run|1. Run|2. Run|BEST]|
1 5200450066543 Faf =k WEDS (T LATHETOKAI 298 203 298 ZHAX
2 6 200550042343 4T K28 BHTH f-LvE MASA 25 E 262 59 262
3 3200850001243 F[E & UsEH H< HOOD 248 253 253
4 2200850007243 Z K 1A PFEMA HZT HOOD 199 211 211
5 4 200850007143 %K i BFA (£4HT HOOD 191 95 191
6 1200850007043 LLUAT REXA OFLH #L& TE—L 139 164 164
F27EEBEARR/—R—FEFHE HEXS
HALFPIPE
D7 Ry 4
TS: KHE K FrR)IHLUT
BEEER: #BR % O—X4% 120 m
I—RAERE: TE = 2 K 15 m
* E: hig BEfE £ g 4.8 m
AA—NEH: 2 IEF £ 5 15 °
4= B K EF M OE 4 m
ANYRDeyT: i REME rooowiay 0.8 m
Sy ANE B BHR B AN—TqAL 2 m
D1 %A M D2/\K =F
EEERE: F BE
mishTI)—: HRAE
Bl B B R PM 1:50
/1-7%?
B[t 7 EEES 2 [ A |F—L% [1. Run[2. Run|1. Run|2. Run|BEST|
1 8 200450066443 Fafl 15 WEDS f-2F L5HFTOKAI 127 130 130 £AX

1/1R=2



